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Note:— — Answers may be written either in Englzsh or in Hmdl, but the same medium |

~ should be used throughout the paper
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Explain the problem of scarcity, choice, opportunity cost and efficiency with the help of production
possibility curve and show the effect of technologlcal mnovatlon on productlon possibility curve.
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(a) What is price elasticity of demand" What are the determinants of prnce elastnclty of demand?
(b) Prove that the elasticity of demand varies from zero 0 infinity on a linear demand curve..
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(a) Consxder a market in which demand and supply function are given by the following SChedules
Qd = 300 - 20P
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‘ : Qs =20P -100 .

(i) Calculate equilibrium price and quantity? ' 3)
-(ii) A price ceiling of Rs 5 is lmposed How does it affect the quantlty demanded and supplied?
Use diagram. | ¢y
(b) Distinguish between consumer surp]us and producer surplus? With the help of diagram, show
how the consumer surplus is determined. _ 7
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. (a) Suppose a consumer’s disposable income 1s Rs 200 per week, and she has a choice to spend on . |
. Food(X) and movies (Y). Price of movies is Rs. 10 each and for food is Rs. 20 each.

i.  Show the possible combinations of meals and movies that could be bought with the gwen :
income of Rs 200 weekly
ii. Suppose the consumer income doubles to Rs.400 weekly and the cornisumer spends his ~
income equally on two goods then at what pomt on the budget line consumer w1ll
consume?
~iii.  Suppose after the change in income the consumer spends Rs100 on Y and Rs.300 on X.
- Does this’ 1mply that X is a normal or an mfenor good? What can you infer about good Y.
(10)
(b) Explam briefly the propertles of mdlﬁ'erence curves. - . - : 5)
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(a) Using mdlf’ference curve analysis, show how the price effect can be broken into the income
effect and substitution effect for an inferior good. (10)

(b) Derive the demand curve from Prlce Consumptlon Curve (PCC) for a normal good.(5)
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| _(a) Calculate Total F 1xed Cost (TFC), Total Variable Cost (TVC) Average Varlable Cost(AVC),.
Average Fixed Cost (AF C), Average Total Cost (ATC) and Margmal Cost. (MC) from the

 following table: . v .
' Output =~ = | 0 1 | 2 3 4 . "5 , 6
Total Cost |10 20 | 25 30 | 45 65 | 95

(b)What is the proﬁt maxnmlzmg output ifa ﬁrm ¢an sell as much as 1t takes at price of Rs. 15 per
~ unit? Calculate profit at dlfferent level of output. S 8,7
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(a) What are the characteristics of perfectly competltwe market‘) :

(b) Derive the short run mdustry supply curve m a perfect competitive industry facmg increasing

costs. A
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Write short note on any two of the followmg (7.5‘, 7. 5).
(a) Pareto Efficiency - ‘

(b) Returns to a variable factor and returns to scale
(c) Shut down point of a perfectly competitive firm.
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